
6,8mm

6,8mm

9

9

9

1 3

4 5

8

2
1 3

4 5

6,8mm

6

1 3

4 5

7

NR. Description MA Item Number

1 Cap 6 Ø6,5x21 mm 8005951

2 DISTANCE 6 Ø7x27x2,5 8005953

3 Washer, Bolt cap 6.4x14x1.6-ISO4759-3-C 8008848

4 Nut, ISO7042-M6-8 8042808

5 Cover M6, Ø15x10mm 8005952 
(261801)

6 Screw, ISO8677-M6x35-8.8 8039272

7 Screw, ISO8677-M6x30-8.8 8039271

8 Screw, ISO8677-M6x25-8.8 8008566

9 560 x 514 mm HB AA 2020-11-10 0

Mirror on screen
 1 ( 1)

ANEBY, SWEDEN
+46(0)380-
47300
www.hags.com

MASW80355
HAGS


	Sheet1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View7
	Detail View A (1 : 5)
	Detail View B (1 : 5)
	Detail View C (1 : 5)
	Detail View D (1 : 5)
	Detail View E (1 : 5)
	Detail View F (1 : 5)


